4 x@,j, =

Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poéng:

7,272 x = 7272 3,429 x = 3429
8,355 % = 8355 1,7 % =17

6, 661 x = 66.61 7,154 x =7154
2,076 x = 2076 6, 864 x = 68.64
1,67 x = 1670 7,529 x = 7529
1,177 % =117.7 1,344 x =134.4
7,363 x =736.3 6, 195 x =61.95
9,781 x =978.1 5,196 x =51.96
4,91 x =4910 10, 541 % = 10541
3,087 x = 30.87 3,729 x = 3729
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L IT=— 7 g
\é’é % Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:
7,272 %100 ="727.2 3,429 x 1000 = 3429
8,355 x 1000 = 8355 1,7x10=17

6,661 x 10 = 66.61 7,154 x 100 ="715.4
2,076 x 1000 = 2076 6,864 x 10 = 68.64
1,67 x 1000 = 1670 7,529 x 1000 = 7529
1, 177 x 100 = 117.7 1,344 x 100 = 134.4
7,363 x 100 = 736.3 6,195 x 10 = 61.95
9,781 x 100 = 978.1 5,196 x 10 = 51.96
4,91 x 1000 = 4910 10, 541 x 1000 = 10541
3,087 x 10 = 30.87 3,729 x 1000 = 3729
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